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Section : General Section

Q.1 study the diagram below and identify the region representing girls who are employed but unmarried.

2
X2 4
1
3

Question ID : 9895809397
Chosen Option : 1

Q.2 A.B,C.D and E are sitting in a row. C is between D and A, E is neither at the end, nor next to D and is to the left of B
who is last. Who is to the right of D?

Ans ?(1- B
X2 E
X3 A
v

Question ID : 9895809381
Chosen Option : 4

Q.3 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statement 1 : All shells are skins.
Statement 2 : No skins are cats.

Conclusion I : No shells are cats.
Conclusion II : Some skins are shells.

Ans X 1. Neither I nor II follows
/< 2. Only conclusion I follows

v 3. Both I and II follow
/< 2. Only conclusion II follows

Question ID : 9895809384
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l Chosen Option : 2

Q4 Choose the option which completes the given figure series
Fasl = & N

+ + || ?

b
=] =

Ans

K2 e

Vs

Question ID : 9895809392
Chosen Option : 3

Q.5 Four words have been given, out of which three are alike in some manner, while one is different. Choose the odd one.

Ans 1 Gearf
/< 2. Sweater
v Sunglass

X 4 Gloves

Question ID : 9895809375
Chosen Option : 3

Q_G Four letter clusters have been given, out of which three are alike in some manner, while one is different. Choose the odd

one

Ans o 1. RSU
X 2. YAC
X 3. LNP
X 4 CEG

Question ID : 9895809374
Chosen Option : 1

Q.7 A, O.M. H, K and U are sitting in a circle facing the centre. A is NOT sitting next to M or U, U is to the right of H. K is
to the left of M, who is opposite O. Who is to the right of O?

Ans xl_ 1=
v A
X3 K
X4+ U

Question ID : 9895809382
Chosen Option : 1

Q8
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Choose the option figure in which the problem figure is hidden/embedded.

Question figure:

S

@
x| @
xo |
x| 6D

Ans

Question ID : 9895809394
Chosen Option :1

Q9 Select the correct option that will fill in the blank and complete the series.

1024, ?, 1600, 2000, 2500, 3125
Ans 11350

X 21440

v 3 1280

X 41125

Question ID : 9895809387
Chosen Option : 3

Q.1 mthe following questions a piece of paper is folded in the manner shown in the question figure(s). Select the figure out
0 of the answer choices showing the unfolded pattern after the punches (cut).

Question figure:

R
I+Ii'_'_'E'l

F N

Ans

V2 ok

Question ID : 9895809396
Chosen Option : 2
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Q.1 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at right side.

1
Question figure:
o

Ls |
X1l oo

Ans

x:[s

Vil 2

X4l o

Question ID : 9895809395
Chosen Option : 3

Q.1 Some boys are sitting in a row facing north. Ganesh is 7th on the left of Akshit. Vinay, who is 20th in the row from left,
2 s 7th on the right of Akshit. If Kamal, who is third on the right of Ganesh, is 20th in the row from right, how many

boys are there in the row?
Ans x 1. 26
V2 28
X3 31
X 4 30

Question ID : 9895809383
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
3

Pen: Write :: Knife :
Ans .jl, Cut

< 2. Shoot

& 3. Blood

X 4. Vegetable

Question ID : 9895809376
Chosen Option : 1

Q‘il Which of the following answer figure will complete the given figure?

Question figure

Ans (l. E
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x4

Question ID : 9895809393
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
5

TSQ:JHG::LTM:?
Ans x 1. FBC
X 2. ACD
X 3 UVO
v 2 NGO

Question ID : 9895809378
Chosen Option : 4

Qél Select the correct option that will fill in the blank and complete the series.

LM, QR, VW,
Ans X' 1. UK
v 2 AB
X< 3. AD
X 4 SM

Question ID : 9895809373
Chosen Option : 2

Q.1 Select the correct combination of mathematical signs to replace “*° signs and to balance the given equation:
7

96 *2*%20*2%174
Ans of 1 x.4=

K2 sx+=
K3 _4+x=
Ka +42=

Question ID : 9895809391
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
8

4896 : 3785 ::7852: 7

Ans X 1. 4519
v 2 6741
X 3. 5630
X 4. 3438

Question ID : 9895809388
Chosen Option : 2

Qg;l If MUNREB is written as 628146 and IESRES as 345145, how will SERBER be written?

Ans o 1 541641
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X 2 541164

X 3. 451146
X 4541146

Question ID : 9895809380
Chosen Option : 1

Q.2 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.

0

Ans x 1. 97
v 2 135
X 3 167
X 4. 199

Question ID : 9895809389
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

Telephone : Communication :: Radio :
Ans  of 1. Broadcast
/< 2. Story
X3 Art
& 4. Character

Question ID : 9895809377
Chosen Option : 1

Q.2 In the question two statements are given, followed by three conclusions, L. [T and IIL. Assuming that the information in
2 the statements is true, even if it appears to be at variance with generally established facts, decide which conclusion(s)
logically and definitely follow(s) from the information given in the statements.

Statement 1 : All tigers are cats.
Statement 2 : All cats are felines.

Conclusion I : Some felines are tigers.

Conclusion IT : All tigers are felines.
Conclusion ITI : Some felines are cats.

Ans 3 1. Only conclusion III follows
« 2. All conclusions I, IT and III follows
/< 3. Only conclusion I and ITI follows
/< 4. Only conclusion I follows

Question ID : 9895809385
Chosen Option : 2
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Find the missing number from the below options.

81100
121 ?

Ans X 1. 225
v 2 144
X 3 256
X 4169

Question ID : 9895809390
Chosen Option : 2

QAZ In a certain code, COLD is coded as GSPH, then how is NOT coded in the same way?

Ans of 1 RSX
X 2 XRS
X 3 RSY
X 4 XSR

Question ID : 9895809379
Chosen Option : 1

Qéz Select the correct option that will fill in the blank and complete the series.

A3 7as 44
Ans Xl- 13
X219
v 14
X 415

Question ID : 9895809386
Chosen Option : 3

Qéz Which of the following was the first Law Minister of Independent India?

Ans X 1. Tawaharlal Nehru

X 2. Abul Kalam Azad

' 2 Bhimrao Ramji Ambedkar
X 4 Asaf Ali

Question ID : 9895809561
Chosen Option : 4

Q7'2 Photosynthesis in plants converts light energy to energy.

Ans 1 thermal
v 2. chemical
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X 3. kinetic
/< 4. physical

Question ID : 9895809565
Chosen Option : 4

%2 The major gap in the Western Ghats is at:
Ans  of 1 Palghat

/< 2. Mangalore

& 3. Madurai

& 4. Manipal

Question ID : 9895809569
Chosen Option : 3

%2 The ‘Ghumura’ dance is from the state of:
Ans X1 Punjab

v 2 Odisha

X 3. Tamil Nadu

X 4. Kerala

Question ID : 9895809548
Chosen Option : 1

%3 “Matki® is a form of dance from the state of:
Ans X 1. Kerala

/< 2. Gujarat

' 2 Madhya Pradesh

< 4 West Bengal

Question ID : 9895809549
Chosen Option : 3

23 The Chola Empire.of the South emerged in the:
Ans X1 oth century BC

X 2 |oth century AD

vz gth century AD

X 4 17t century AD

Question ID : 9895809570
Chosen Option : 2

Q2'3 In the 2016 Olympics men’s singles badminton title was won by:

Ans 1. Lee Chong Wei
& 2. Kidambi Srikanth
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' 3. Chen Long

/X 4 Lin Dan

Question ID : 9895809551
Chosen Option : 2

%3 The British ruled India for nearly:
Ans X 1. 50 years

o 2. 200 years

/< 3. 100 years

X 4. 500 years

Question ID : 9895809571
Chosen Option : 2

%3 Where did the Chipko movement first start in India?

Ans X1 Tamil Nadu
& 2. Maharashtra
X 3. Karnataka
v 4 Uttar Pradesh

Question ID : 9895809572
Chosen Option : 2

Q.3 A person who advocates separation of the state from religious institutions is called a
5

Ans X 1. Communalist
v 2. Secularist
X 3. Socialist
< 4. Feminist

Question ID : 9895809560
Chosen Option : 3

Qé3 The Prime Minister who led India during the 1965 war with Pakistan is:
Ans 1. Morarji Desai

# 2. Indira Gandhi

v 2. Lal Bahadur Shastri

/< 4. JTawaharlal Nehru

Question ID : 9895809555
Chosen Option : 2

Q-3 Which is one of the factors of subsistence used to measure the Poverty Line in India?
7

Ans X 1. Equality
v 2. Education
/< 3. Internet
/< 4. Transportation
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Question ID : 9895809557
Chosen Option : 1

Qé3 The men’s title of the 2018 Australian Open Tennis Championship, was won by.

Ans 5 1. Rafael Nadal
' 2. Roger Federer

& 3. Stan Warwinka
X 4. Andy Murray

Question ID : 9895809552
Chosen Option : 2

Q3 . . _
5 The 2017 Sahitya Academy award for Bengali was won by:

Ans 1. Himanshu Bose
v 2. Afsar Ahmed
X 3. Ramesh Megh

< 4. David Bhattacharva

Question ID : 9895809553
Chosen Option : 1

Q0-4 The Goods and Services Tax allowed India to become:

Ans 1. Ap East and a West market
v 2. A common market

/& 3. A set of separate markets
& 4. A South and a North market

Question ID : 9895809559
Chosen Option : 2

Q1'4 Which of the following is not a Metamorphic rock?

Ans X 1. Gnesis
X 2. Marble
X 3. Slate
v 4 Limestone

Question ID : 9895809563
Chosen Option : 1

%% The Aga Khan palace is located in the state of:

Ans  of 1. Maharashtra
< 2. Uttar Pradesh
X 3. Kerala
/< 4. Madhya Pradesh

Question ID : 9895809550
Chosen Option : 2
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Q.4 A stain of curry on a white cloth become reddish brown when soap is used because the soap is:
3

Ans X' 1. Neutral in nature
X 2. Acidic in nature
< 3. Alkaline in nature

' 2 Rasic in nature

Question ID : 9895809564
Chosen Option : 2

%4 Which is the deepest lake in the world?
Ans (1. Lake Tanganyika

X 2. Lake Vostok

v . Lake Baikal

/< 4. Lake Superior

Question ID : 9895809567
Chosen Option : 1

%4 An ecosystem consists of:

Ans X 1. Chemical and physical components
+ 2. Biotic and abiotic components
#< 3. Physical and social components

< 4. Biotic and antibiotic components

Question ID : 9895809568
Chosen Option : 1

sz“ Leguminous plants replenish the soil by the presence of
Ans X 1. Firmicutes

/< 2. Spirochaete

v 3 Rhizobium

/< 4. Aquificae

Question ID : 9895809566
Chosen Option : 3

Q.4 The process of is used to increase shelf life of milk by destroying disease causing microorganisms.
7

Ans o 1 pasteurisation
X 2. evaporation

& 3. condensation
/< 4 hydrogenation

Question ID : 9895809562
Chosen Option : 2

%4 The railway budget is:
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Ans  of 1 Part of the Central budget
< 2. Part of the States budget
< 3. Separate from the Central as well as State budget
#< 4. Separate from the Central budget

Question ID : 9895809558
Chosen Option : 3

Q.4 The reign of the dynasty has been described as the golden age of Indian civilization.
9

Ans X 1. Porus
2. Harsha
# 3. Buddha
' 4 Gupta

Question ID : 9895809554
Chosen Option : 3

st In which year was The Reserve Bank of India was established?

Ans of 11926
X 2. 1947
X 3. 1950
X 4 1952

Question ID : 9895809556
Chosen Option : 4

Q.5 The cost price of 27 articles is same as the selling price of 18 articles. What is the profit percent?
1

Ans X1 40%
v 2 50%
X 3 30%
X 4 25%

Question ID : 9895809733
Chosen Option : 1

Q2-5 A train 400 m long passes a pole in 20 seconds. What is the speed of the train?

Ans X170 km/hr
v 2 72 km/hr
X 3. 68 km/hr
X 4 64 km/hr

Question ID : 9895809743
Chosen Option : 2

Q.5 A discount of 20% in the price of rice enables X to buy 5 kg more rice for T100. What is the reduced price of rice per
3  kg?

Ans xl_ 3
X232
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X33
v T4

Question ID : 9895809728
Chosen Option : 4

Q.5 A and B can together complete a task 40 days. They worked together for 30 days and then B left. A finished the
4 remaining task in next 22 days. In how many days A alone can finish the task?

Ans X 1 48 days
' 2. 88 days
X 3. 30 days
X 4. 40 days

Question ID : 9895809742
Chosen Option : 2

Q.5 A hollow copper pipe is 22 cm long and its external diameter is 28 cm. If the thickness of the pipe is 3 cm and iron
5 weighs 8.5 g.fcms, then the weight of the pipe is closest to:

Ans 51 34 kg
V2 44kg
X 3 14 ke
X4 24ke

Question ID : 9895809738
Chosen Option : 1

Q.5 The least number that should be added to 2.397 so that the sum is exactly divisible by 3. 4, 5 and 67
6

Ans Xl_ 6
X2 4
X35
V3

Question ID : 9895809730
Chosen Option : 4

2 The median of 31,25, 17, 23, 45 and 59 is:

Ans Xl- 23
X225
X 3 31
v 28

Question ID : 9895809729
Chosen Option : 2

Q.5 Excluding stoppages, the speed of a bus is 70 kmph and including stoppages, it is 56 kmph. For how many minutes does
8  the bus stop per hour?

Ans X1 10 min
& 2 8 min
X 3 15 min
v 412 min
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Question ID : 9895809744
Chosen Option : 1

Q.5 A and B can complete a task in 40 days and 16 days respectively. A started the task alone and then after 12 days B
9 joined him till the completion of the task. How long did the task last after B joined the task?

AN of 1 g days
X 2. 6 days
/X 3. 14 days
< 4. 12 days

Question ID : 9895809741
Chosen Option : 3

Q.6 A sum of money amounted to T720 in 2 years and 792 in 3 years when interest is compounded annually. The annual
0 rate of interest, (in %) is:

Ans x 1. 594
X 2. 7.50%
X 3 7%
v 2 10%

Question ID : 9895809727
Chosen Option : 2

Q.6 In X's opinion, his weight is greater than 60 kg but less than 68 kg, Y doesn't agree with him and says that X's weight is
1 more than 62 kg but less than 70 kg. The mother of X believes that the weight of X is greater than 64 kg. If all of them
are correct in their estimation, then what is the average of different probable weights of X. if the weight is in integer?

Ans X1 68 kg
X 2 67 kg
'3 66kg
X 4 65kg

Question ID : 9895809724
Chosen Option : 3

Q.6 The ratio of the number of boys and girls in a college is 6 : 7. If the percentage increase in the number of boys and
2 girls be 20% and 10% respectively, what will be the new ratio?

Ans of 1 72:77

X 2.35:36
X 3.36:35
&4 TT T2

Question ID : 9895809735
Chosen Option : 3

Q.6 A right triangle with sides 5 cm, 12 cm and 13 em is rotated about the side 12 em to form a cone. The volume of the
3 cone so formed is:

Ans XL 811 emd
v'2 100 7 em®
X3 91 rem’
X 4110 T em®

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
Question ID : 9895809740
Chosen Option : 3

Q6 The value of 64 +2X (9+3)X3+9—-32 is:
Ans Xl' 1

V20

X3 -1

X4 2

Question ID : 9895809726
Chosen Option : 4

Q.6 The average weight of 8 people increases by 2.5 kg when a new person comes in place of one of them weighing 75 kg.
5  What is the weight of the new person?

Ans of 1. 05kg
X2 T5ke
X 3 8 kg
X 4 65ke

Question ID : 9895809723
Chosen Option : 3

Q.6 How much time will it take for an amount of ¥360 to yield T72 as interest at 5% p.a. of simple interest?
6

Ans 1. 3 years
W 2. 4 years
75 3. 2.5 years
X 4. 3.5 years

Question ID : 9895809737
Chosen Option : 1

Q.6 The pie charts show the market share of companies in the rice market in 2017 and 2018. The value of sales of Company
7 Ain2017 was T40 lakhs. If its sales grew by 25% in 2018, what was approximate value of sales of company B in 2018?

DISTRIBUTION OF SALES IN 2017 DISTRIBUTION OF SALES IN 2018

Ans X 1. ¥12.56 lakhs
X 2. T13.96 lakhs
v 2 T12.96 lakhs
X 4. F13.56 lakhs

Question ID : 9895809747
Chosen Option : 2

Qés The valueof24 - 4 X (3 + 3) + 2 is:
Ans xl_ it
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X224
X3 20
v 18

Question ID : 9895809725
Chosen Option : 4

Q.6 120 men consume 720 kg of rice in 30 days. In how many days can 90 men consume 270 kg?
9

Ans Xl- 18
X212
X309
v 15

Question ID : 9895809734
Chosen Option : 1

Q.7 Two students appeared for an examination. One student who scored 20 marks more than the other, his score was 60% of
0 the sum of their marks. What was his score?

Ans x 1. 80
X2 20
X 3 40
v 1 60

Question ID : 9895809731
Chosen Option : 3

Q.7 The line graph shows the scores of a batsman in 6 consecutive matches. What is the range of his scores?
1

Score in each Match

2

Ans (1. 33
X 2 43
X 3 41
X 4 51

Question ID : 9895809745
Chosen Option : 3

Q.7 An article was sold for T4,000. Had a discount of 10% was being offered, the profit would have been 20%. The cost
2  price of the article was:

Ans X 1 33,200
X 2 33310
v 3 73,000
X 4 33,600

Question ID : 9895809732
Chosen Option : 4

Q.7 The slant height of a right circular cone is 15 m and its height is 9 m. The area of its curved surface, is:
3
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Ans X 1169 1m

X2 172am
X3 1651m

S R S N o B ]

v 4 180 1m

Question ID : 9895809739
Chosen Option : 2

Q.7 The bar graph shows the number of paintings sold by an art gallery in each month from January to June. How many
4 paintings does it need to sell in July for the 7 month average to be 90?

Ans X1 115
X2 85
< 3. 90
v 2 110

Number of Paintings Sold

18
e

%858 EE
7 I
f I
F —
5 I

Question ID : 9895809746
Chosen Option : 3

Q.7 Inabag there are coins of 25 paisa. 50 paisa and 1 rupee in the ratio of 3 : 4 : 5. If there are in all ¥31, then how many 1
5 rupee coins are there in the bag?

Ans x 1. 12
X216
X324
v 4 20

Question ID : 9895809736
Chosen Option : 4

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

When the vegetation is altered, the animal life also changed.

Ans X 1. No substitution required

' 2. also changes
< 3. changed
/X 4. is changing

Question ID : 9895809908
Chosen Option : 1

Q.2 select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The greed of human beings leads to over utilization of natural resources.

Ans X 1. leads for

v 2. No substitution required
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X 3 lead to

X 4. Jeading to

Question ID : 9895809909
Chosen Option : 1

Q3 Select the meaning of the given idiom.

Piece of cake
Ans 1. Something very difficult

/X 2. Something very tasty
' 2 Something very easy
X 4. Something very soft

Question ID : 9895809923
Chosen Option : 4

Q.4 select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The term flora is use for denote plants of a particular region or period.

Ans X 1. used denoting
X 2. denoting

v 3. used to denote
X 4. No substitution required

Question ID : 9895809907
Chosen Option : 3

Q3 Select the meaning of the given idiom.

A snake in the grass
Ans 1. Cowardly and brutal

& 2. Low and mean
/< 3. Anunreliable person

' 2 A hidden enemy

Question ID : 9895809922
Chosen Option : 3

Q.6 Select the most appropriate word to fill in the blank.

We should take measures to prevent recurrence of such incidents.
Ans X 1. substitute
v 2. effective
< 3. casual

< 4. properly

Question ID : 9895809929
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l Chosen Option : 4

Q7 Select the antonym of the given word.

ILLICIT
Ans 1. Illegal
& 2. Unlawful
v 3 Lawful
< 4. Illegitimate

Question ID : 9895809921
Chosen Option : 4

Q8 Select the word which means the same as the group of words given.

A sentimental longing or wistful affection for a period in the past
Ans % 1. Harmony

X< 2. Affliction

' 2. Nostalgia

< 4. Paradise

Question ID : 9895809924
Chosen Option : 1

Q9 Select the antonym of the given word.

ABUNDANT
Ans 1 Ample
X 2. Plentiful
X 3. Copious
v 4 Scarce

Question ID : 9895809920
Chosen Option : 2

le Select the most appropriate word to fill in the blank.

Dense mangroves are common varieties with roots submerged ~ water.
Ans X 1. beside
/< 2. over
v 3 under
& 4. behind

Question ID : 9895809910
Chosen Option : 3

Comprehension:
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In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Can you (1) a world without human beings? Who but humans (2)
hawve utilized the resources and created a (3) and cultural

environment? The people living in a counftry are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 11
Ql'l Select the most appropriate option that will fill in the blank
number 1.

Ans X' 1. realize
< 2. figure
/< 3. devise

+ 4 imagine

Question ID : 9895809913
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
hawve utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 12
Qz'l Select the most appropriate option that will fill in the blank
number 2.
Ans X 1. would
v 2. could
/5 3. can
X4 will

Question ID : 9895809914
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
hawve utilized the resources and created a (3) and cultural
environment? The people living in a country are imp ortant to (4)
the economy and the society. They (5) are the greatest resource.
SubQuestion No : 13
Q_,;l Select the most appropriate option that will fill in the blank
number 3.

Ans  of 1. social
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#< 2. communal

/< 3. general
< 4 familiar

Question ID : 9895809915
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
hawve utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 14

Q1 Select the most appropriate option that will fill in the blank
number 4.

Ans X 1. evolve

W' 2 develop

/< 3. mature

# 4. establish

Question ID : 9895809916
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
hawve utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 15

2! Select the most appropriate option that will fill in the blank
number 5.

Ans X1 jtself

v 2. themselves

< 3. yourselves

< 4. ourselves

Question ID : 9895809917
Chosen Option : 2

Qél Select the word which means the same as the group of words given.

Violation of something holy or sacred
Ans - X 1. Ritual
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/X 2. Ceremony

W' 2 Sacrilege
& 4. Pious

Question ID : 9895809925
Chosen Option : 4

Q7'1 Select the synonym of the given word.

ISOLATION
Ans X 1. Association
& 2. Communication

v &3 Separation
/< 4. Integration

Question ID : 9895809918
Chosen Option : 3

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.

Concern above rising pollution led to the launch of various action plans.
Ans o 1. Concern above
< 2. launch of
X 3 Jed to
/< 4. action plans

Question ID : 9895809906
Chosen Option : 3

% Select the wrongly spelt word.
Ans %1 Ninety

& 2. Neither

/& 3. Noticeable

' 4. Neccessary

Question ID : 9895809926
Chosen Option : 1

%2 Select the most appropriate word to fill in the blank.

The house remained  for a long time.
Ans X 1. evicted
/< 2. empty
v 3. vacant
X 4. blank

Question ID : 9895809928
Chosen Option : 3

Q.2
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1 Select the wrongly spelt word.

Ans X 1. Sacrifice
X 2. Sanctity
X 3. Schedule
W 2 Salry

Question ID : 9895809927
Chosen Option : 4

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
2

Most of the freshwater lake in India are in the Himalayan region.

Ans X 1. Most of the
& 2 in India
X 3 arein
v 4. freshwater lake

Question ID :-9895809904
Chosen Option : 4

%2 Select the most appropriate word to fill in the blank.

The elephants are the most majestic animals the mammals.
Ans x 1. as
& 2. between

« 3 among
5 4 over

Question ID : 9895809911
Chosen Option : 3

2 -
Q4 Select the synonym of the given word.

INTEGRATION
Ans - X 1. Division
< 2. Separation
v = Unification
/< 4. Segregation

Question ID : 9895809919
Chosen Option : 1

Q5-2 Identify the segment in the sentence which contains the grammatical error from the given options.
Rivers has been of primary importance for human settlements since ancient times.
Ans 1. of primary importance
v 2. Rivers has been
/< 3. since ancient times.

& 4. for human settlements
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Question ID : 9895809905
Chosen Option : 2

Section : Hindi Language

Q1 e 1w arrr # Iwifra @S @ woraRE e & BT 395w Rk @1 T +

IEER T T =uTag AT H Ff 36T 747 90T |
Ans K1 ASTETH

X 2. FaTer

Vo T

X 4 FEETET

Question ID : 98958010037
Chosen Option : --

Q2 fyw 1w Iy F I@IfRa WE SO WA F B 397 BeeT w1 wma =
FEIY 1T §gT & TS oot arel B
Ans X 1 FSEETET
v FEE
X 3 FegyrEr
X 4 FegETdT

Question ID : 98958010039
Chosen Option : --

O R T FY s F T 39gET e F =TT
A4 50 F9 ¥ v w3 & gl area #T @ g

Ans “l. ﬁ.%a_
X 2. HETST
X e IrEag

X« gifea

Question ID : 98958010043
Chosen Option : --

¢ fow aTT I H FE AT AT A A FE IR

HIAT ST FT TONH &T HeT2T SF AT g
Ans xlmaﬁ'

X< 2 B FAgr el
X 3 3egar
v 4 3 Sher A

Question ID : 98958010035
Chosen Option : --
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®° gotmw FT faeE o= ¥ -
Ans of 1 IR
< 2 g
X FE

X e

Question ID : 98958010050
Chosen Option : --

0 fagfes @ Rew we= ¥ -
ms g SRR

X2 gfee

X 3. FAgee

X 4 FeOgree

Question ID : 98958010051
Chosen Option : --

7 s 1 TETE e ¥ -

Ans Jlm
X 2. Fer
53 HIGT

=

X 4 ghger

Question ID : 98958010053
Chosen Option : --

¥ P T WY e & BT 3UgHES g H AT H

3H #Afcd F A= S9ET & g 7T §l
Ans o 1. HTRIT

X2 uer

X3 BT

X 4 HFR

Question ID : 98958010041
Chosen Option : --

®° ISHE F THEEET e ¢ -
Ans “lﬁ-{rﬂ'
X2 g§

X s AT
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X 4 e

Question ID : 98958010052
Chosen Option : --

% Y T A T F BT v qeg TGS @ -

Ans Xl' m
X 2 fAaem
X o geifem
v 4 seTdr

Question ID : 98958010056
Chosen Option : --

S ET Fol 1@ ST HEER W e A ¢ -
Ans X L YR T FH FET

X 2. IS dTaAT

X 3 qrferer =TT

v o grelt T IRA FET

Question ID : 98958010055
Chosen Option : --

%' TE I3 arer s FT 99T H
Ans Il- I
X2 FfET
X 3 8T
X o o

Question ID : 98958010058
Chosen Option : --

%' Tl TN AR FT T FY
Ans xl%ﬁ_
v e
X 3 e
X4 TSE

Question ID : 98958010059
Chosen Option : --

Comprehension:
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Trafaf@a searr & Rea wuer #r 9fF ae@mr & S e
AT oA F HJAR HITST-

#5 R 7@ W W g 39 Fe A (1) & &% &
Tgd T HAGH & TN TSHF 530S J5H § G e
ggmﬁmﬁﬁmmﬁmégémﬁ
(2) =X T o o AT @ & -9 T amErEseEr

E=1 (3) STATETOT H HT HT &1 Wi @I AT §H T A
sfsr & ofy (4) T = BvTT 3 ¥ I
ST A I AT B aemr  (5) RFEF
AT H |-G F g1 AT 3aar 272
SubQuestion No : 14

%! e F EfaT Rea ' (1) & Rw
3UYFT A ET

Ans Klqﬁw_r
< 2 gfEmET
v 5 i
X 4 freat

| Question ID : 98958010045
Chosen Option : --

—— =

Comprehension:
Tt ez & e TaE= #ir 9fq e & 5= oo
T FIAT & HFAR Hroe-

#s o7 981 W@ W HqS 59 e @ (1) & oL &
T FT A &1 ITIT| IRl 3Tk HT8H O HteaT 3 Er
@gﬂm#mﬁ@rmaﬁﬂﬁ@%gﬁmaﬁr
(2) T I off| Bras RET ¥ & o-9e T s

o (3) STaTERUT H 3T FT a1 T T AT IH T A
sfesa & 9fy (4) g5 STy vt o ¥ U wWar
Fi s e g PeFea fraemar _ (5) e+
A # @-I€ F 74 19 35T 82
SubQuestion No : 15

% s F EHET R weE (2) ¥ B
3IYFT AT ET

Ans Klﬁﬁg
Vo SEE
X 3 e
< 4 3ETH
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Question ID : 98958010046
Chosen Option : --

Comprehension:
ol oy & fea wuer fr 9fF seamer & #$=r oo
T FIAT & HFAR Hriae-

#s o7 981 W@ W FqS 59 @A @ () FaL#

9gd FT A g1 IT| T 3Tk H8H O Fear 3T

g% gEEier & oSl Hr TR FEd AN W% g e w
(2) FX & ot Bras ET ¥ F WO T eerser

" (3) aTATERUT H 3T FT & W= @ AT FH T A

giesT & 9T (4) BF T U o ¥ Uhar wEar

gl 5T o ofis & g7 Fererer Fr For=a (5) fraer

AT H @I FT FgT ST 3547 872

SubQuestion No : 16

%! s F EHET R T (3) ¥ RBw
3IYFT AT ET

A X1 e
A2 ong
X o
v o gafag

Question ID : 98958010047
Chosen Option : --

Comprehension:
fFafof@a sy & Rag Tomat $r 9fd gz & H= R
T gedAT & HJAR Hriere-

#$ et F8f T W q TW@ WA A (1) F ay &
Tgd FO HIoH & AT Td:FHel 3Tk HHH ¥ foleay amr
g5 qOHETE & e T TR R A W g oA H
(2) FT T ol Traw Gt @ # -9 T AETESNT

o (3) STATETTT # HTe HT a1 Wi @I oA 5H T A
afesT & gfy (4) g FIdr AU A & Ahcr T
gl 5T off &f3 & g Towersr #7 Feadr (5) a+
A H @-1€ & Fd1 ST 3547 272
SubQuestion No : 17

% ez & EFfaT few T @) F B
3UgFT AT B

Ans K'l_ mm
X2 faf¥Eea
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V'3 TR
75 4. g4mem

Question ID : 98958010048
Chosen Option : --

Comprehension:
frafof@T searr & Rea wuer #r 9fF ae@mer & J= e
AT FoA F HJAR HIST-

#% e T8 W W g3 59 wred A (1) F X &
EEHHJ—EF@FE’I‘WI QI 3Tk IHH § TeaT 3mdar
g% UG & Sl S TR Rl A% W g8 e #
(2) X &dr off| g fear & & @-9e T syeTHsIer

b= (3) STATETUT H HT HT &1 W W@ o1 56 T A
sgiasa & i (4) B Fedr RUTT o ¥ UFar w|ar
21 5T off sz & T oo F Foraa (5) fFasr
AT H @I & FAdr 9T 337 87
SubQuestion No : 18

%! ey #F THET Rea o (5) F fw
IUgFT e B

Ans XK 1. SITeTET
X2 =BT
W 5 3l

/< 4. O

Question ID : 98958010049
Chosen Option : --

% R oTT IR @ 3 o A9 W S S8 IR

oA F WA F ¥HE F 92T oiF &
Ans X 1 grerar &

v gt

X3 e A

K 4 9T BIF ATl

Question ID : 98958010036
Chosen Option : --

% o FT UR W TEAr qEEY T EE A -

Ans X 1 dnfr T@T W e
X 2 AgAT AT
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' FHCIUT Bl FH B

X 4 OTer FT FT

Question ID : 98958010054
Chosen Option : --

Ql-z e v T 7 wifea @5 # yiorwRa &= & B 3957 Beer &1 937 w3
RO & 3 ufFa H gram FEN TR

Ans of 1 QRO

X 2 R

X o AT

X o IRfET

Question ID : 98958010038
Chosen Option : --

% R oTT I # 3 AR A9 Y S S8 IR
STt &I H Blell & AR HHg diX H HAIT A1l 2T

A o gl we A

A 2. Zrell T RN

X T@Ag dX A

X 4 FATIT ST 7

Question ID : 98958010034
Chosen Option : --

%? R T s F T 39FA A F TS H

FIAT _ H & FereET et & Bt #T "gcg &9 <87 gl
Ans xlm

X2

v

X 4 FHdememt

Question ID : 98958010042
Chosen Option : --

% R T & R ¥ R saEa e #1989 F

FTRT H FeHAd gidr gl
Ans XK1 g

Vo ofEa

X2 ofr
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X4 ey

Question ID : 98958010040
Chosen Option : --

& orme aRHAT F A S T F B wF e 9GS @ 2

Ans xl. ﬁ ﬂ
X 2 i@
v 2 afyoms
& 4. 3gfyATeT

Question ID : 98958010057
Chosen Option : --
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